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58 i 3 & 7 £
&l A
o IEFFIEE  WKV-X 39 - 744 o BRAME  T-20
o HI B <tk 395 x L x44 o JEFHiEIE 300 mm
o {FERAM®E fal;E A o R71)2 4 3-WXI-44x7x5.5
o R7IUHIN—
* 1% il — Wi Aoy TR P = 80 kN CEwF Po = 33 mm
F HERE i= 0 CEEHRE Z = 1574 md
- EHEEZEELFE P, = 80.0 kN
- BRI E R axb =200 mm x 500 mm
- X[ ERf Q= 295 mm
s RFYUTN—ARARERE 4 = 500 mm

BEME
CRTIVTN——KREBEMBE LTEHET 5,
R A op = 0.180 kN/mm’

w
VAR A A A A

21

e HlFE—AT K M

~ Pi x Py
W= axb
80.0 x 33 _
W *m— 0.026 kN/mm
M =%xw x Qo x (20— 21 ) (0>08 0,=20)
:%xo.ozs x 295 x (2 x 295 — 295 )
= 287.2 kN-mm
ok Hh: O
M 287.2 . -
(o} —T—W—. 0.182 kN/mm2=0. 18 k N/mm2
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